
 

CBR600 99> & SPORT HUGGER 
 

Part # 07118 

 
Fitting kit: 

 

2 x M6 x 20mm button allen bolt CBOL2165 

2 x M6 x 12mm button allen bolt CBOL0123 

4 x M6 big nylon washer    CWAS0230 

4 x M6 s/steel washer    CWAS0201 

 

Fitting instructions: 

 

In order to position the hugger it is necessary to remove the left side pillion foot rest hanger. 

 

Remove the original chain guard. 

 

Remove the bolts that secure the two brake hose clips on the right side of the swing arm. 

(Do not discard the clips). 

 

Position the hugger. 

 

In the first instance, do not fully tighten the fasteners 

Use loctite or a similar thread retaining compound on all fasteners. 

 

Using the shorter bolts, with s/steel and nylon washers, secure the hugger to the chain guard 

tabs. 

 

Use the longer bolts, with s/steel and nylon washers, to secure the hugger at the hose clip 

mounts, making sure that the clips are in position between the hugger and the swing arm. 

 

Check hugger alignment before finally tightening all fasteners. 

 

 

Please note: check hugger alignment and fasteners periodically. 


